MIAMI-DADE' MIAMI-DADE COUNTY, FLORIDA
COUNTY METRO-DADE FLAGLER BUILDING

BUILDING CODE COMPLIANCE OFFICE (BCCO) 140 WEST FLAGLER STREET, SUITE 1603

PRODUCT CONTROL DIVISION MIAMI, FLORIDA 33130-1563
(305) 375-2901 FAX (305) 375-2908

NOTICE OF ACCEPTANCE (NOA) www.buildingcodeonline.com

General Impact Glass and Widows Corp.

7840 NW 64" Street

Miami, FL. 33166

SCOPE:

This NOA is being issued under the applicable rules and regulations governing the use of construction materials.
The documentation submitted has been reviewed by Miami-Dade County Product Control Division and accepted
by the Board of Rules and Appeals (BORA) to be used in Miami Dade County and other areas where allowed by
the Authority Having Jurisdiction (AHJ).

This NOA shall not be valid after the expiration date stated below. The Miami-Dade County Product Control
Division (In Miami Dade County) and/or the AHJ (in areas other than Miami Dade County) reserve the right to
have this product or material tested for quality assurance purposes. If this product or material fails to perform in
the accepted manner, the manufacturer will incur the expense of such testing and the AHJ may immediately
revoke, modify, or suspend the use of such product or material within their jurisdiction. BORA reserves the right
to revoke this acceptance, if it is determined by Miami-Dade County Product Control Division that this product or
material fails to meet the requirements of the applicable building code.

This product is approved as described herein, and has been designed to comply with the Florida Building Code
including the High Velocity Hurricane Zone.

DESCRIPTION: High Impact 55 mm Slat Rollup Shutter

APPROVAL DOCUMENT: Drawing No. 07-179, titled “High Impact 55 mm Slat Roll-Up Shutter”, prepared
by Tilteco Inc., 07/10/07, sheets 1 through 14 of 14, signed and sealed by Walter A. Tillit Jr., P. E., bearing the
Miami-Dade County Product Control Renewal stamp with the Notice of Acceptance number and approval date by
the Miami-Dade County Product Control Division.

MISSILE IMPACT RATING: Large and Small Missile Impact

Limitation:

1. Roll-up Mechanism is Not part of this approval and must be certified by independent testing agency.

2. Minimum separation from interior storm bar to existing glass shall be as shown on sheet 6 of 14.
LABELING: Each unit shall bear a permanent label with the manufacturer's name or logo, city, state and the
following statement: "Miami-Dade County Product Control Approved or MDCPCA", unless otherwise noted
herein.

RENEWAL of this NOA shall be considered after a renewal application has been filed and there has been no
change in the applicable building code negatively affecting the performance of this product.

TERMINATION of this NOA will occur after the expiration date or if there has been a revision or change in the
materials, use, and/or manufacture of the product or process. Misuse of this NOA as an endorsement of any
product, for sales, advertising or any other purposes shall automatically terminate this NOA. Failure to comply
with any section of this NOA shall be cause for termination and removal of NOA.

ADVERTISEMENT: The NOA number preceded by the words Miami-Dade County, Florida, and followed by
the expiration date may be displayed in advertising literature. If any portion of the NOA is displayed, then it shall
be done in its entirety.

INSPECTION: A copy of this entire NOA shall be provided to the user by the manufacturer or its distributors
and shall be available for inspection at the job site at the request of the Building Official.

This NOA consists of this page, evidence page E-1 as well as approval document mentioned above.

The submitted documentation was reviewed by Mohammed Igbal Shaikh, P.E.

NOA No. 07-0716.08
Expiration Date: 08/03/12
Approval Date: 08/03/07
Page 1




General Impact Glass and Widows Corp.

NOTICE OF ACCEPTANCE: EVIDENCE PAGE

A DRAWINGS
1. Manufacturers extruded drawings and sections.
2. Drawing No. 07-179 titled “High Impact 55 mm Slat Roll-Up Shutter”, prepared by
Tilteco Inc., dated 07/10/07, sheets 1 through 14 of 14, signed and sealed by Walter A.
Tillit Jr., P. E.

B TEST REPORTS:
1. Test reports on Uniform Static Air Pressure Test per TAS 202, Large Missile Impact Test
per TAS 201 & Cyclic Wind Pressure Test per TAS 203 of Series 55 mm Aluminum Roll
Up Shutter System, prepared by Fenestration Testing Laboratory, Inc., Test reports No(s)
5200 dated 03/03/07 and 5228 dated 04/04/07, signed and sealed by Michael R. Wenzel,
P.E.

C CALCULATIONS
1. Comparative and structural analysis for slats; storm bars, headers, tracks, mullions and
anchors, using rational analysis dated 07/11/07, pages 1 through 97 of 97 prepared by
Tilteco, Inc. signed and sealed by Walter A. Tillit Jr., PE

D. QUALITY ASSURANCE
L. Miami Dade Building Code Compliance Office (BCCO).
E MATERIAL CERTIFICATION

1 Tensile Test Report per ASTM B557, prepared by Fenestration Testing Laboratory, Inc.,
Report No 5200, dated 04/02/07, signed and sealed by Michael R. Wenzel, P.E.

F STATEMENTS

L. Statement Letter of product compliance to FBC & “No financial interest” dated June 07,
2007, signed and sealed by Walter A. Tillit Jr., P. E.
2. Lab compliance letter, as part of above referenced test reports.
G OTHER
none

W

* " Mohammed Igbal Shaikh, P. E.
Sr. Building Code Compliance Specialist
NOA No.: 07-0716.08

Expiration Date: 08/03/12

Approval Date:08/03/07



GE NOTES:

1. ROLL-UP SHUTTER SHOWN ON THIS PRODUCT APPROVAL DOCUMENT (P.A.D.) HAS BEEN VERIFIED FOR COMPLIANCE

IN ACCORDANCE WITH THE 2004 EDITION OF THE FLORIDA BUILDING CODE WITH THE 2005 AND 2006 SUPPLEMENTS.

DESIGN WIND LOADS SHALL BE DETERMINED AS PER SECTION 1620 OF THE ABOVE MENTIONED CODE.

IN ORDER TO VERIFY THAT COMPONENTS AND ANCHORS ON THIS P.A.D. AS TESTED WERE NOT OVER
STRESSED, A 33% INCREASE IN ALLOWABLE STRESS FOR WIND LOADS WAS NOT USED IN THEIR ANALYSIS.
A DURATION FACTOR CD=1.60 WAS USED FOR VERIFICATION OF FASTENERS IN WOOD.

ROLL-UP SHUTTER'S ADEQUACY FOR IMPACT AND FATIGUE RESISTANCE HAS BEEN VERIFIED IN ACCORDANCE WITH
SECTION 1609.1.4 OF THE ABOVE MENTIONED CODE AS PER FENESTRATION TESTING LAB. REPORTS # 5200
& 5228 AS PER TAS—201, TAS—202 AND TAS—203 PROTOCOLS.

2. ALL ALUMINUM EXTRUSIONS SHALL BE 6063-T6 ALLOY (UNLESS OTHERWISE NOTED).

3. ALL SCREWS TO BE STAINLESS STEEL 304 OR 316 SERIES WITH 50 ksi YIELD STRENGTH AND 90 ksi TENSILE
STRENGTH OR CORROSION RESISTANT COATED CARBON STEEL AS PER DIN 50018. ALL S.D.S. ARE TEK SCREWS
MANUFACTURED BY W BUILDEX.

4. BOLTS TO BE ASTM A-307, GALVANIZED OR AS| 304 OR 316 SERIES STAINLESS STEEL WITH 36 ksi MINIMUM YIELD STRENGTH.

S. STORM BARS AT FLOOR OR CEILING MOUNTING INSTALLATIONS MAY BE REMOVABLE AT NON HURRICANE CONDITIONS.

HOWEVER, EACH STORM BAR SHALL BEAR A PERMANENT LABEL IN A VISIBLE PLACE WITH A WARNING NOTE
INSTRUCTING THE TENANT OR OWNER THAT STORM BARS MUST BE INSTALLED WITH CORRESPONDING HARDWARE
DURING PERIODS OF HURRICANE WARNING AND THAT ROLL UP SHUTTERS WILL NOT OFFER HURRICANE PROTECTION
UNLESS ALL STORM BARS ARE INSTALLED AS DIRECTED.

6. ANCHORS TO WALL FOR SIDE RAILS AND BOX CONNECTION SHALL BE AS FOLLOWS: (UNLESS OTHERWISE NOTED)
(A) TO EXISTING POURED CONCRETE: MIN. 3192 p.s.i. COMPRESSIVE STRENGTH.

NOTES:
~1/4"¢ TAPCON ANCHORS AS MANUFACTURED BY ITW BUILDEX, INC.

A.1) MINIMUM EMBEDMENT OF TAPCON ANCHORS INTO POURED CONCRETE SHALL BE 1 3/4".
NO EMBEDMENT INTO STUCCO SHALL BE CONSIDERED AS PART OF THE REQUIRED EMBEDMENT.

A.2) IN CASE THAT PRECAST STONE, PRECAST CONCRETE PANELS, OR PAVERS BE FOUND ON THE EXISTING
WALL OR FLOOR, ANCHORS SHALL BE LONG ENOUGH TO REACH THE MAIN STRUCTURE BEHIND SUCH PANELS.

(B) TO EXISTING CONCRETE ASTM C—90 BLOCK WALL:
NOTES:
—1/4"¢ TAPCON ANCHORS, AS MANUFACTURED BY iTW BUILDEX, INC.
B.1) MINIMUM EMBEDMENT OF TAPCON ANCHORS, INTO THE CONCRETE BLOCK UNIT SHALL BE 1 1/4"
B.2) IN CASE THAT PRECAST STONE OR PRECAST CONCRETE PANELS BE FOUND ON THE EXISTING WALL,
ANCHORS SHALL BE LONG ENOUGH TO REACH THE MAIN STRUCTURE BEHIND SUCH PANELS.
(C) TO EXISTING WOOD FRAME BUILDING:
NOTES:
—1/4"¢ TAPCON ANCHORS, AS MANUFACTURED BY ITW BUILDEX, INC.

C.1) MINIMUM EMBEDMENT OF TAPCON ANCHORS, INTO THE WOOD FRAME UNIT SHALL BE 1 1/2"
THREADED PENETRATION.

C.2) IN CASE THAT PRECAST STONE OR PRECAST CONCRETE PANELS BE FOUND ON THE EXISTING WALL,
ANCHORS SHALL BE LONG ENOUGH TO REACH THE MAIN STRUCTURE BEHIND SUCH PANELS.

(D) ANCHORS SHALL BE INSTALLED FOLLOWING ALL OF THE RECOMMENDATIONS AND SPECIFICATIONS OF THE
ANCHOR’S MANUFACTURER.

(E) ANCHORS REQUIRED FOR STORM BARS, HEADERS AND MULLION CONNECTIONS SHALL BE AS
SPECIFIED ON APPLICABLE SECTIONS SHOWN ON SHEETS 6, 7 & 8 RESPECTIVELY.

—TAPCON ANCHORS AS MANUFACTURED BY ITW BUILDEX, INC.

—KWIK BOLT 3 EXPANSION ANCHORS TO BE AS MANUFACTURED BY HILTI, INC.

—CALK~IN ANCHORS TO BE AS MANUFACTURED BY POWERS FASTENERS, INC.

MINIMUM EDGE DISTANCE AND SPACING FOR ABOVE MENTIONED ANCHORS SHALL BE AS

INDICATED BELOW OR AT ABOVE MENTIONED SHEETS, WHICHEVER IS LARGER (MORE CRITICAL).

EMBEDMENT
GROUT FILLED OR
CONCRETE BLOCK

ANCHOR SPACING ©® 100% EDGE DISTANCE @ 100%  CONCRETE
1/4"8 TAPCON 3" 2 1/2" 1 3/4” (3192 psi)
3/8"¢ POWER BOLTS 4 1/2" 4 1/2" 2" (3000 psi)
3/8"8 KWIK BOLT 3 5 5/8" 5" 2 1/2" (3000 psi)
1/2"8 KWIK BOLT 3 7 3/4” 6" 3 1/27(3000 psi)
1/4"¢ CALK—IN 2 1/2" 3" 7/8" (3000 psi)
3/8"¢ CALK—IN 3 3/4” 4 1/2" 1 1/4" (3000 psi)

7. IT SHALL BE THE RESPONSIBILITY OF THE CONTRACTOR TO VERIFY THE SOUNDNESS OF THE
STRUCTURE WHERE SHUTTER IS TO BE ATTACHED TO INSURE PROPER ANCHORAGE.

8. SHUTTER MANUFACTURER'S LABEL SHALL BE PLACED ON THE EXPOSED SURFACE OF THE SIDE RAIL

APPROXIMATELY 4" BELOW THE TOP OF SUCH RAIL.
LABEL SHALL READ AS FOLLOWS:

GENERAL IMPACT GLASS AND WINDOWS, CORP.
MIAMI, FL.

MIAMI—DADE COUNTY PRODUCT CONTROL APPROVED.

1/4"

1.1/2"
31/2"

9. ROLL-UP MECHANISM NOT PART OF THIS APPROVAL, BUT SHALL BE CERTIFIED BY AN INDEPENDENT

TESTING AGENCY.

10. ROLL~-UP SHUTTERS INSTALLATION SHALL COMPLY WITH SPECS INDICATED IN THIS DRAWING PLUS ANY

BUILDING AND ZONING REGULATIONS PROVIDED BY THE JURISDICTION WHERE PERMIT IS APPLIED TO.

11. THE INSTALLATION CONTRACTOR IS TO SEAL/CAULK ALL SHUTTER COMPONENT EDGES WHICH REMAIN IN

CONTINUOUS CONTACT WITH THE BUILDING TO PREVENT WIND/RAIN INTRUSION.

12. (o) THIS P.A.D. PREPARED BY THIS ENGINEER IS GENERIC AND DOES NOT PROVIDE INFORMATION FOR

A SITE SPECIFIC PROJECT; i.e. WHERE THE SITE CONDITIONS DEVIATE FROM THE P.A.D.

(b) CONTRACTOR TO BE RESPONSIBLE FOR THE SELECTION, PURCHASE AND INSTALLATION INCLUDING

LIFE SAFETY OF THIS PRODUCT, BASED ON THIS P.A.D. PROVIDED HE/SHE DOES NOT DEVIATE FROM

THE CONDITIONS DETAILED ON THIS DOCUMENT. CONSTRUCTION SAFETY AT SITE IS THE CONTRACTOR'S

RESPONSIBILITY.
(c) THIS P.AD. WILL BE CONSIDERED INVALID IF ALTERED BY ANY MEANS.

(d) SITE SPECIFIC PROJECTS SHALL BE PREPARED BY A REGISTERED ENGINEER OR ARCHITECT WHICH WILL
BECOME THE ENGINEER OF RECORD (E.0.R.) FOR THE PROJECT AND WHO WILL BE RESPONSIBLE FOR

THE PROPER USE OF THE P.A.D. ENGINEER OF RECORD, ACTING AS A DELEGATED ENGINEER TO THE
P.A.D. ENGINEER, SHALL SUBMIT TO THIS LATTER THE SITE SPECIFIC DRAWINGS FOR REVIEW. ;

(e) THIS P.AD. SHALL BEAR THE DATE AND ORIGINAL SEAL AND SIGNATURE OF THE
THE PROFESSIONAL ENGINEER OF RECORD THAT PREPARED IT.

F.B.C. (High Velocity Hurricane Zone)

© 2007 TILTECO INC.

TILLIT TESTING & ENGINEERING COMPANY
6355 N.W. 36th. St, Ste. 305 — VIRGINIA GARDENS, Fl. 33166
Phone : (305) 871~1530 , Fax : (303) 871-1531

/ I||_|E CO mc_\ GENERAL IMPACT GLASS AND WINDOWS, CORP.

HIGH IMPACT 55mm SLAT DRAWN BY:
ROLL-UP SHUTTER F.P.
07/10/07
(CQ.LPA # 1) DATE
et
PH:(305)558-8103, FAX:{305)558-6665 07-179
DRAWING No

e
— S e—~mail: titeco@aol.com
o= T EB—0006719 REV. N

DESCRIPTION

DATE

REV. No

DESCRIPTION

DATE

3

JUL 11 2007 ""FLORIOK L. 3 ‘44167 - :

4

SHEET 1 OF 14




MAXIMUM HEADER SPAN (SEE SCHEDULE)

/‘@OR@

W-3
(SIMILAR

&

<
> N

Wﬂ@

Z

AR TR RN

|~—MAXIMUM STORM BAR SPAN (SEE SCHEDULE)—-

“ i /
)

Z % ; H N 5

7 2 / - \v/ :

? é B Z 5 —s 5 —=

7 — 7 (Typ.) % = = :
g‘? ; — ] Z A 4 -4 ; : :
& , — S ] 5% ]
8 P Z =] D Z P P Z S = :L = S ~ P =
2 7 Z © = O—4 ‘
5 7 Z 7 : :
8 7 7 : or%‘ﬁ = j
2 Z ’Ea ) A H

7 Z e 7 i -

g 7 A 3 —

/ 7 Y :

4 — % ? ! H

2 7 Z ) 5

Max. SLAT SPAN (SEE SCHEDULE) 'B“V l
Max. SLAT SPAN (SEE SCHEDULE) Max. STORM BAR SPACING (SEE SCHEDULE)

TYPICAL SINGLE UNIT ELEVATION (NO STORM BARS REQUIRED)
NOTE: SEE SHEET 3 & 4 FOR COMPONENTS NOMENCLATURE.

Max. MULLION SPACING
(SEE SCHEDULE)

SEE SCHEDULE ON SHEET 10

o

TY

Max. MULLION SPACING

]
PICAL MULTIPLE UNIT ELEVATION (STORM BARS REQUIRED

NOTE: SEE SHEET 3 & 4 FOR COMPONENTS NOMENCLATURE.
SEE SCHEDULES ON SHEETS 10 THRU 14

Max., HEADER SPAN &

(SEE SCHEDULE)

@\//\///////////////Jr/////////////////////// . @\/J L /////// }/ //// /// II I PP IIIIIP,

| I ! i il 1

E_ | 1 leo-o N /@O0
g | - : i : it AN | :(/ ; m
Jon| Ei EE === == ==
& . E i ; E E i : 5 } 5 i 5 5 5 ! E % L§
g_ | —— o e e =l ==
T = | | === ==
4 = I | | p e i e il — 5
§ | ! > or . === 2 e —2 o3
g | Ei ua ;: R ? (Typ.) L ——] |+ H—— (T m——— i %ﬁ 3
s | | = | === =SS SIE= == == S FE
2| s i DG ' | =I|==IISEERE
= f — s | ] — (Typ. Ea. END) | —| : = 33
|| == | === — =5

| ifi i ! | Hi -+ E i

EAAANARRARRARRRERR RN ARRR SRR R AR AR NN NRRRANRRNNN AN N N A R RO IS
p | w1 Max. SLAT SPAN (SEE SCHEDULE) v ﬂ W-2

Max. SLAT SPAN Max. STORM BAR SPACING (SEE SCHEDULE) i

(SEE SCHEDULE)

TYPICAL CONSECUTIVE SINGLE UNIT ELEVATION (NO STORM BARS REQUIRED)

NOTE: SEE SHEET 3 & 4 FOR COMPONENTS NOMENCLATURE.

SEE SCHEDULES ON SHEETS 10 THRU 14

NOTE:
SEE SECTIONS ON
SHEETS § THRU 8.

NOTE: SEE SHEET 3 & 4 FOR COMPONEMTS NOMENCLATURE.
SEE SCHEDULES ON SHEETS 10 THRU 14

TYPICAL CONSECUTIV MULTIPLE UNIT ELEVATION (STORM BARS REQUIRED!

F.B.C. (High Velocity Hurricane Zone)

@"‘Q_. “‘5 \‘“\
JUL 1 'ii‘ 2007

P

© 2007 TILTECO INC.

/TitlEc 0 e, \

TILUT TESTING & ENGINEERING COMPANY

6355 N.W. 36th, St., Ste. 303 — VIRGINIA GARDENS, Fl. 33166

Phone : (305) B7t-1530 , Fax : (305) 871-1531
e—mail: tilteco@aol.com

EB-0006719
WALTER A, TILLIT Jr,, P. E.
FLORIDA Lic. # 44167

HIGH IMPACT 55mm SLAT DRAWN BY:
ROLL-UP SHUTTER F.P.

GENERAL IMPACT GLASS AND WINDOWS, CORP. 07/10/07
(C.QLPA. DATE

g o S
PH:(305)558~8103, FAX:(305)558-6665 07-179
REY. No DESCRIPTION oATE | Rev. No DESCRIPTION DATE DRAWING No
. . SHEET 2 OF 14




'———2.000"—-—' '———2.000"———'

.182 N T
202" N i 4,000" i I 6.000" —i
in
. 5‘@ " '
at . 2.478 LA R
@) SLAT STOPPER me ozl | R A 2ol | 8
5005-H32 OR 3004-H16 1 ~ 1 T T
ALUMINUM ALLOY (t = 0.050")
SLAT (6) TYPE 1 HEADER (H) TYPE 2 HEADER
55mm EXTRUDED ALUMINUM SLAT | L ey eyl 6063-T6 ALUMINUM ALLOY
6061-T6 OR 6005-T5 ALUMINUM ALLOY ' SCALE: 1/2" = 1
SCALE: 1/2" = 1”
_ 350 ke (D) TYPE 1 STORM BAR  (E) TYPE 2 STORM BAR
Ftu = 38.0 Ksi 6063-T6 ALUMINUM ALLOY 6063-T6 ALUMINUM ALLOY
SCALE: 1/2" = 1" SCALE: 1/2" = 1"
4.000™
i 4.000" d i 4000" '
_[_. T
E 2.964" @
Iﬁ l—1.454"————1 500 ——l ? [j125" TP
L ’l\ T —1.146 B l -
=N 3 o7e |- . E B
L'{ LA, [687" '3 T "' § L 2s0 3
i% .065"-J *——L—.787"—|—1 N n| ¥ i 8
2 .266" .266" 8 8 3 2 250" 1
' T S — B ™ e
) - ]
TYPE 1 SIDE RAIL . ]
6061-T6 OR 6005~T5 Alum. ALLOY %
) - — i INSIDE MOUNT ANGLE
SCALE: 1/2" = 1
TYPE 1 MULLION iy S
6063-T6 ALUMINUM ALLOY
SCALE: 1/2" = 1"
TYPE 2 MULLION
. . . 063-T6 ALUMINUM ALLOY
j l———1 203"—%21.500'——4? SCALE: 1/2" = 1"
s M=
o .',: § .055” 079" * —71 :,l, /5 3,;g;th:,ﬁ s complylng with tig
z T LT, s & 8 ferida am;m Cudﬂ
162"|T ;688" T T
H—F g B QJ 3 L) TYPE 3 MULLION e Jw of
g o e 4 v 606376 ALUMINUM ALLOY ’*3"3"* Product Controt
g8 &8 =& SCALE: 1/2" = o
‘ TYPE 2 SIDE RAIL
6061-T6 OR 6005—T5 Alum ALLOY
SCALE: 1/2" = 1" F.B.C. (High Velocity Hurricane Zone)
© 2007 TILTECO INC. HIGH IMPACT 55mm SLAT DRAWN BY:
ROLL-UP SHUTTER F.P.
/ I||_|E C O e \ GENERAL IMPACT GLASS AND WINDOWS, CORP.| 07/10/07
: (c.QlLPA # 1) DATE
TILLIT TESTING & ENGINEERING COMPANY 7840 NW. 84 STREET
6355 N.W. 36th. St. Ste. 305 — VIRGINIA GARDENS. Fl. 33168 MIAMI, FL. 33166 07—-179
Phone : (305) a71.|-.15€$t. Fmb : (3‘05) 871-1831 PH:(305)558—-8103, FAX:(305)558-6665
e—mqlE.é_(I)oeo(QO71gq° -com REY. No DESCRIPTION DATE REV, No DESCRIPTION DATE DRAWING No
JU! ] E 2[] ] WALTER B LT, Jrs B B . : SHEET 3 OF 14




()

f m— .
\\\\\\\\\\“A

RIBBON: 17/32" WIDE.
SIDE RAIL.
SLAT.

45 CHAMFER
(OPTIONAL)

3 5/16" Long.
NYLON FUNNEL.

@ BOX COMPONENTS AND ASSEMBLY DETAIL

JUL 11 2007

|

45' CHAMFER
(OPTIONAL)

STUB DETAIL
(N. T. S

TOP PROFILE 3005-H28 ALLOY.
BOTTOM LEADER W/PLUSH.

REAR PROFILE 3005-H28 ALLOY.
BOTTOM PROFILE 3005-H28 ALLOY.
COVER PROFILE 3005—H28 ALLOY.
NYLON DISK: 4 1/4" Q. D.

ROLLING CUSHION W/BALLS.

BOX SIDE BRACKET: CAST ALUMINUM,

EXTRUDED ALUMINUM DRAWING HOOP.

GALVANIZED STEEL DRUM: 1 9/16" O. D. x 0.032" Thk.
RETAINING METAL PLATE: 26 Ga. Galv. Sti. AT EACH END.
NYLON FERRULE: 1 17/32" 0. D. x 0.045" Thk. x

SCREWS: # 4 x 1/2" S. S.

neE 71 5 38" /
DPE 2- 6 127 /
/
/
/
/

N

PE 3 7 176"

~

45" CHAMFER
(OPTIONAL)

TPE 4 87
nPE 5- 10"
TYPE 6: 12°

/

N

/

®) BOX SIDE BRACKET TYPES

ing with the

© 2007 TILTECO INC.

/TiLlEc ome. \

TILLIT TESTING & ENGINEERING COMPANY
6355 N.W. 36th. St. Ste. 305 — VIRGINIA GARDENS, Fi, 33166
Phone : {305) 871-1530 , Fax : (305) 871—1531

e—mail: tilteco®aol.com

EB-0006719
WALTER A, TILLIT Jr., P. E.
FLORIDA Lic. # 44167

F.B.C. (High Velocity Hurricane Zone)
HIGH IMPACT 55mm SLAT DRAWN BY:
ROLL-UP SHUTTER F.P.
GENERAL IMPACT GLASS AND WINDOWS, CORP. 07/10/07
(CQLPA # 1) DATE
i e
PH:(305)558—8103, FAX:(305)558—6665 07-179
REY. No DESCRIPTION DATE REV. No DESCRIPTION DATE DRAWlNG NO
: > SHEET 4 OF 14




1/4"¢ TAPCON
ANCHORS

POURED CONCRETE OR
CONCRETE BLOCK

NN

=@
2!

REQUIRED
"4 TAPCON
(SEE SCHEDULE ON Mrmpereo
THIS SHEEI')-\ | E. D: / (SEE SCHEDULE ON EQ
\/ THIS SHEET)
.\H— 1/4"6 x 3/4" TEK SCREWS
- @ & 0. ¢
7 7 i
' 1) e
a 3 {
; ¥ =
POURED
CONCRETE OR
CONCRETE BLOCK
= REQUIRED 50" r2.5]
@@ ==

SECTION P=P (1): WALL MOUNT

SCALE: 1/2" = "

SCALE: 1/2" = 1"

/@OR @OR @

@@

: INSIDE WALL MOUNT

1/4"® TAPCON
ANCHORS
(SEE SCHEDULE ON

THIS SHEET) \

/

b= €. D-
b

CONCRETE BLOCK

POURED CONCRETE OR

3" 1" x1/8 3"x2"x1/8", 3"x3"x1/8",
/ OR 3"x4" x1/8 CONT. BUILD—-OUT TUBE.

!

REQUIRED 7
7
T

é —EQ. £Q.
£

= .0

1/4"¢ x 3/4" TEK SS:REWS
® 6" O.C. QmtmE
.250" 2.5]
Max. ™1

6@

SECTION E-E"(SI; BUILD-OUT MOUNT

SCALE: 1/2" = 1

1/478 x 3/4°
TEK SCREWS
® 6" 0.C.

250"
Max.

B} W—1 OR W2

= /®

2!

—

&)@

/@OR@OR @

SECTION Q-0Q: MULLION MOUNT (FACE MOUNT)

SCALE: 1/2" = 1"
0 © !
1/4" x 3/4" TEK SCREWS_| | _1/4"¢ x 3/4" TEK SCREWS 1/4% x 3/4" T5K6§C§EV<J:S JQ EQ 1@(4;9; 36/4 TEK SCREWS
@ 6" 0. C. @ 6" 0. C. A :E- . ml :
e
EQ £Q
= N[V L_rj T 53] 'W : AIJ r =T
% - £0~-—£Q Qofet % jL Q£ £Q--=E +
2] | o e Tl
o | B L'OR‘ o L@@
W1 OR W-2 (B)~(53 @ SECTION R—R: MULLION MOUNT (INSIDE MOUNT) TR
SECTION R—R: MULLION MOUNT (FACE MOUNT) SCALE: 1/2" = 1" * CHOR SP. AT SIDE
SCALE: 1/2" = 1" SUS CE = D.
[ A MAXIMUM ANCHOR SPACING ARE VALID FOR
G in) * FOR SIDE RAILS 3" EDGE DISTANCE. FOR E. D. LESS THAN 3", REDUCE

CORRESPONDIN

CONNECTION TO POURED CONCRETE OR CONCRETE BLOCK WALL W/ 1/4"¢ TAPCON ANCHORS

HOR SP

(USE MAXIMUM VALUES BETWEEN POSITIVE AND NEGATIVE LOAD)

SfDLé\TR /fﬁ . (B) SLAT (55mm)

L%m TYPE | SIDE RAIL . SIDE RAIL @
L?i ?‘) waLL MounT | NSIDE. | BURDSOUT fwail mount | INSDE | BULD-QUT
80 ESS 8" 4 1/2" 8" 8" 5" 8"

OR L
8" 8" 8" 8" 8" 8"
80 10 13 8 3 1/2" 7 1/2" 8" 4 8"
> 0
38 8" 8" 8" 8 8"
>130 TO 180 ° ll ° ° /” 37 r
8" 7" 8" 8" 8" 8"

CONCRETE BLOCK

POURED CONCRETE

SUBSTRATE LEGEND

ANCHOR SPACING BY MULTIPLYING SPACING SHOWN ON
SCHEDULE BY THE FOLLOWING FACTORS (REDUCED
SPACING OBTAINED USING FACTORS SHALL NOT BE LESS

THAN 3™):
ACTUAL E. D. FACTOR
2 1/2" 75
2" .50

F.B.C. (High Velocity Hurricane Zone)

© 2007 TILTECO INC.

/TiLlEC o me. \

JUL 1 2007

TILLIT TESTING & ENGINEERING COMPANY
6335 N.W. 36th. St, Ste. 308 ~ VIRGINIA GARDENS, Fi. 33166

Phone : (303) B71-1530 , Fax : (305) 871—1531
e—mail: tilteco®@aol.com
EB-0006719
WALTER A. TILLIT Jr,, P. E.

FLORIDA Lic. #

44167

HIGH IMPACT 55mm SLAT DRAWN BY:
ROLL-UP SHUTTER F.P.
GENERAL IMPACT GLASS AND WINDOWS, CORP. 07/10/07
(CQLPA. # 1) DATE
T, o ST
PH:(305)558-8103, FAX:(305)556-6665 07-179
DRAWING No

REY. Na

DESCRIPTION

DATE REV. No

DESCRIPTION

DATE

4

SHEET S OF 14




POURED CONCRETE
REQUIRED

1"x2"x1/8" Alum. PLATE
W/ TAPCON ANCHORS

DE.
PLE

o

i
|
|
i
i
i
|
|
|
|
| |
! |
! |
} |
l_-2.000"__}i |
! Min. [ [
f I |
:: | .
1 ; [ OR
! ! f
il ~EXISTING  |i !
I/ GLass ! |
I ] !
I 1 |
I H |
It [
I S I S
|
i b l
T
I I !
! .
! ! @
It I
" f
" |
il |
1l |
i |
it 5
i Min, SEPARATION
fo———  TO GLASS
I (SEE SHEET 10)

{BEYOND)

AAXIMUM STORM BAR SPAN FOR THIS INSTALLATION TY!

vy

POURED CONCRETE
REQUIRED

FOR TAPCON ANCHORS _|_5 1

" Min.
FOR 1/4"¢ CALK~IN- ANCHORS - hﬁ/ 4

FOR 3/8' POWER 80LTS | 4 1 /02w
& CALK-IN ANCHORS /2

CEILING & FLOOR MOUNTING SECTION V-V(2) INSTALLAT

@ 12" 0.C.

1 nxzn

I

x1/8" Alum. plate

TAPCON ANCHORS @ 12" 0.C.

O

11/2"x1 1/2"x1/8"x0'~4"

Alum. ANGLE EA. SIDE
~FOR INSTALLATION INTO CONCRETE,

5 | [75"75"
Ty} "
] s G USE (2) 1/4"¢ TAPCON ANCHORS " " @7 3/8"8 KWIK BOLT 3 w/
P o & J | W/ 1 3/4" MIN. Min. EMBEDMENT 75"~ 75 @"R 1 5/8" Min. EMBEDMENT EACH SIDE|
S T & - L el EA. SIDE FOR DESIGN LOADS UP TO ] |
-7 ~ 72 PSF, 4'~-0" STORM BAR SPACING : Y
Ve X & &-0" STORM BAR HEIGHT. T i \
I;CE)gR%%DCONCRETE / \ AND USE (2) 3/8"% POWER BOLTS ¢ $
Ul | [ W/ 2" MIN. EMBEDMENT EA.
! j7ei 2 <y SIDE FOR GREATER LOADS,
/
/ \@ | (3) 1/4%ax3/4" 172 R i
- EACH 08 ,
. - I ! n 1DE. ) (3) 1/4"ax3/4"
/ t'E $ e et -~ TEk SCREWS
Q2 EACH SIDE.
1 | r]/
v Mse <4y
T o o o @@
Es - /I;DGE OF WALL
” ? | = [0 ol el
i —. - OR um. . .
i : lwlo o o ! ®7 | % 1/4'9-20 MACHINE SCREWS USED JOINTLY W/
" 2.000" | 15 . | ] FOR INSTALLATION INTO CONCRETE, 1/4'6x7/8" OR 3/8"¢—16 MACHINE SCREWS USED
I 00 ! L | K& A —TTUSE (2) 1/4"2x7/8" CALK—IN EA. SIDE JOINTLY W/3/8"@x1/4" ANCHORS RESPECTIVELY
i ' | | i | I hd FOR DESIGN LOADS UP TO 72 PSF, SHALL BE LEFT TOGETHER W/ ANCHORS AT
i ! ! : : 4'-0" STORM BAR SPACING & THE TIME STORM BARS ARE REMOVED. (SEE DET. A).
Il i if e, ! 8'~0" STORM BAR HEIGHT.
" st i sj s AND USE (2) 3/8"8x1 1/4" CALK—IN
I L i iR - EA. SIDE FOR GREATER LOADS.
i I |
n ! ! ! ! M MACHINE SCREW FULLY
| |} -
— | i1 ~ fg%.,‘{;xﬂs M EMBEDDED INTO ANCHOR
i GLASS i IR A , OR
i i | | i g i AN ANCHOR
1l i i} \ b3 . ] ¢
( . ! 1] | f 0 >
i Min. SEPARATION I - 02
! ro ass ——df | ;\@ S ,
! (SEE SHEET 10) e ! ! 5 SECTION S-S (FOR REMOVABLE STORM BAR)
-
:: | I g
1l I | | Z
! ! ! . OR 2 _ ANCHOR & ANGLE
Y
& | DESIGN LOAD MAX, MAX, SUBSTRATE ANCHOR TYPE & ANGLE
! V j/ l £ {psf) SEANE" | ST REQUIREMENT QUANTITY THICKNESS . — oR @
i i I z " ) o
t ! & 4-0 525 CONCRETE BLOCK OR " 1/8" -
1 I | o |20 OR LESS I 7-3" FOURED CONCRETE |(#) 1/4°¢ TAPCONS| 1/ | 1121 1/2'1/8%STORM BAR
It = ! | Alum. ANGLE W
! } i & 180 OR LESS |FER SCHEDULE | PER SCHEDULE PQURED (4) 1/4"2 TAPCONS 1/4" - 2) 1/4";mx 3/4" TEK/ SCREWS
H { : z SHEET 11 & 12|SHEET 11 & 12 CONCRETE : EA. SIDE EA. LEG.
» [e]
{‘t-——z-,\doiao l\‘r\L NP S ~ -
i : I OR z e TR ,I;" | ?;Eg“shc‘:?-i?ocfgt'rémm' ANGLE )
t 2 - \ ~ - U R THICKNESS
I ? POURED CONCRETE AN L ' r

S1

|

3" M'm.x

/
!
L -
=h |
POURED CONCRETE d /
OR CONCRETE e | @ 7

@

4 T e ———

Y ——-

Miny

t

Alum. ANGLE EA. SIDE

11/2"%1 1/2"%1/8"x0'—4"

/

/ "
/ 3
! Min.

1
v ’leZ"xS"XVARIAELE THICKNESS

{SEE ANGLE SCHEDULE)
Cont. Alum. ANGLE W/ CONCENTRATION

OR CONCRETE
BLOCK REQ'D
(SEE_SCHFDULE
/

1

i

|

: 3" Min

| {FOR CONGRETE BLOCK

|
|
|
|
i
\ &2 1/2" Min, / |
\,(FOR POURED CONCRET {
\
|
]
[

~ / \
AY
[ N

N
\ /

o

L

11

o

L2

.000"

12.000"

\
\
—@OR@\\
1

1"

!
2"x5"x1/4"x0'-5" Alum. ANGLE EA,
SIDE W/ (2) 1/4"¢ TAPCON ANCHORS
o AT CENTER OF ANGLE LEG TO WALL &
(4) 1/4"ax3/4" TEK SCREWS TO

?\\

STORM BAR. (SEE LIMITATION
S/CHEDULE)
Id

2"x5"¥VARIABLE THICKNESS
(SEE ANGLE SCHEDULE)

3.000"——3,000"~—3,000"

Cont., Alum. ANGLE W/ CONCENTRATION
OF (4) 1/4"@ TAPCON ANCHORS @ 3"
0.c. AT STORM BAR LOCATION, REST @

12" o.c.
(SEE LIMITATION SCHEDULE)

F.B.C. (High Velocity Hurricane Zone)

o5 Somelying with thg
iy Codn G
2 /o

Ll -~

5 ;
 £35de Progner Conmrof

303

7y

/& Dk

) Ry OF (4) 1/4"¢ TAPCON ANCHORS @ 3"
] BLOCK REQ'D —— - o.c. AT STORM BAR LOCATION, REST © © 2007 TILTECO INC. HIGH IMPACT 55mm SLAT DRAWN BY:
(SEE SCHEDULE) 12" o.c. Fp
5 (SEE LIMITATION SCHEDULE) ROLL-UP SHUTTER F.
NOTE: - TI\-IVHI?'H]NBS(.)FQLI;;?:?NNG o BE ng?ﬁgmg ';EDVEER;_ED WALL MOUNTING SECTI - INS 10 I||_ I EC O in: GENERAL IMPACT (GLASS #AN)D WINDOWS, CORP.{ 07/10/07
e ) ; C.QLPA # 1 DATE
o s W/ FIXED STORM BARS W/ CONCRETE ANCHORS * T, TEeTiG, & ENGINEETING SOy THE Jie S S
_ 6355 N.W. 36th, St, Ste. 305 — VIRGINIA GARDENS, F1. 33168 MIAMI, FL. 33166
/?tla%%IEE SSHP(')L\WNNWQ:_TIHSAUOTU’;T%%MSEBCA\TFIQOZS rfl-:RA%ESI?'g]LAR ™ Phane =t?32;) B;j,rﬁg,‘l’té:gb:agf?o'r’;‘—’53‘ PH:(305)558—8103, FAX:(305)558-6665 07-179
! - -mail: .
EXCEPT THAT A 1 1/2"""1 1/2°x1/8" CONT. ANGLE W/ SECTIONS V - V W \\“\ éB_.(I)006719 REV. No DESCRIPTION DATE | REV. No DESCRIPTION DATE DRAWING No
1/4 @ TAPCONS @ 12" o.c. SHALL HE USED AT BOTTOM. N.T.S. J‘J?—J '_i AE‘ 200/ WAFITES’;D'X E:léL]‘l;#Jz‘i‘Ig? E. ; : SHEET 8 OF 14




2"x3"(Max.)x1/8" Cont. Alum. TUBE

W/ 1 1/2%1° 1/2"x1/8"%0'-3"(Max.)
ALUMINUM ANGLE TO BUILD-OUT TUBE
w/ (2) 1/4°9x3/4" TEK SCREWS EA. LEG
& 1/4'¢ TAPCON ANCHORS @ 12" O.C.
FULL LENGTH TO POURED CONCRETE

11/2" x 1 1/2" x
125" x STORM BAR
DEPTH Alum. ANGLE

—1.750" 1~ EA, SIDE
—-.750" —\ » N
G - % Crend*
. 1¥wy |
Sl A & EACH SIDE.
S g <hY $

emzti s}

\(3) 1/4"ax3/4"
TEK SCREWS
EACH SIDE.

SECTION S3 — S3

4"x6"(Max.)x1/4" CONT. ALUM. TUBE w/

11/2" x 1 1/2" x
.125” x STORM BAR
DEPTH Alum. ANGLE

EA. SIDE —\

S L (3) 1/4"ax3/4"

g~ ] €| TEK SCREWS

EACH SIDE.
$ - -y $

OE~—$ Atshe eﬁi}t;k O
\(3) 1/4%0x3/4"

TEK SCREWS
EACH SIDE.

SECTION S4 — S4

X \"ul/@ or @
| WHEN APPLICABLE
il

1/4"8 TAPCON ANCHORS @ 12" 0.C. W/
CONCENTRATION OF (6) 1/4"# KWIK BOLT 3

1 1/2"1 1/2"x1/8"x
FRONT STORM BAR DEPTH Alum. ANGLE
OR x 0'-3" AT REAR STORM BAR EA. SIDE

BONGRe 1"x2"x1/8" Al fate W/
x2°x um. plate
ggggl}ggjlz —J 1/4"¢x3/4" TEK SCREWS @ 12" 0.C. TO TUBE.
7 .
4 ﬁgg: ’ SN
1 ! = AN
- | / \
' o o \‘
S4 : )
HH S®
[ P
[
[
o
I
Loy
I
N - ®
by
oy
[
+2.000" Min~l |
I' | s3
|
] | *
o
EXISTING ~———n! I >@ o @
GLASS [ ‘
{ | —
I &
[
b
i

I

Min. SEPARATION TO GLASS
(SEE SHEET 10)

BUILD-OUT TUBE

(BEYOND)
|~2.000" Min.~{

s4

(BEYOND)

o
)€

*83

_21/2
Min,

POURED CONCRETE OR ——,
GROUT FILLED CONCRETE
BLOCK REQUIRED

FIXED STORM BAR CONNECTION AT BUILD—OQUT INSTALLATION

NOTE: — THIS INSTALLATION CAN BE CONSTRUCTED REVERSED

i.e. WITH BOX FACING WINDOW, AND CONVEX SIDE
OF SLATS FACING THE EXTERIOR.

— SINGLE SPAN SECTIONS AND DETAILS ARE SIMILAR

TO ABOVE SHOWN WITHOUT STORM BAR & HEADERS.

2"x3"(Min.)x1/4" Cont.

ALUMINUM ANGLE W/ CONCENTRATION
OF (4) 1/4%8 x 3/4" TEK SCREWS
©® 3" 0.C. AT STORM BAR

LOCATION, REST @ 12" 0.C.

\_4"x6"(Max.)x1/4" CONT. ALUM. TUBE W/

1/4"9 TAPCON ANCHORS @ 12" O.C. W/
CONCENTRATION OF (6) 1/4"¢ KWIK BOLT 3
W/ 2" Min. EMBEDMENT @ 3" 0.C. AT
STORM BAR LOCATION (SEE ELEVATION X)

SECTIONS V-V (3)

N.T.S.

W/ 2" Min. EMBEDMENT @ 3" 0.C. AT
STORM BAR LOCATION (SEE ELEVATION X)

W/ (2) 1/478x3/4" TEK SCREWS
G

,/: SIDE EA.

LE!

————————————— T FT A ey e ’
- o = Lo o o 14 =0 - l'l"
12.000" 12.000" -3.000"—+=—3.000"—+—3.000" 12.000" 12.000"

ELEVAT!QN&

WALL MOUNTING SECTION V-V(3) LIMITATIONS SCHEDULE

STORM BAR | STORM BAR

DESIGN LOAD
(psf) SPACING SPAN SUBSTRATE
£-0" 5'-5" CONCRETE BLOCK OR
72.0 OR LESS 0" 73" POURED CONCRETE

PER SCHEDULE

PER SCHEDULE
180.0 OR LESS|sHEETs 11 & 12 | SHEETS 11 & 12

POURED
CONCRETE

F.B.C. (High Velocity Hurricane Zone)

© 2007 TILTECO INC. HIGH IMPACT 55mm SLAT DRAWN BY:
ROLL-UP SHUTTER F.P.
/ I|L|E CO mc\ GENERAL IMPACT GLASS AND WINDOWS, CORP.| 07/10/c7
: C.Q.LPA. § 1 DATE
TILLIT TESTING & ENGINEERING COMPANY 7840 N.W. 64 STREET
6355 N.W. 36th. St., Ste. 305 — VIRGINIA GARDENS, Fl. 33166 MiAMI, FL. 33166 07-179
@ — e Phone : (305_) 87"7‘15:'?( Fux@ : (.1'05) 871-1531 PH:(305)558—8103, FAX:(305)558—6665
- M i . \ ° maéé_ég%%(;wa ol.com REV. No DESCRIPTION DATE REV. No DESCRIPTION DATE DRAWING No
. . WALTER A. TILLT Jr., P, E, 1 3
JUL T 2007 FLORIDA Lic. # 44167 2 2 SHEET 7 OF 14




1"x2"x1/8"

ALUMINUM PLATE w/ TAPCON
POURED CONCRETE q" PERL) ANCHORS @ 12°

REQUIRED
// >

MAXIMUM MULLION SPAN FOR THIS INSTALLATION TYPE

(®) MULLION AND (2) 1/2"8 KWIK

11/2%1 1/2°x1/8™  MULLION |
DEPTH Alum. ANGLE (EACH SIDE)
W/ (1) 1/2" KWIK BOLT 3 FOR |

BOLT 3 FOR(L)OR £ MULLIONS
W/ 3 1/27 Min. EMBEDMENT TO

1"x2"x1/8"
ALUMINUM PLATE W/ TAPCON
ANCHORS @ 12" 0.C.

| POURED CONCRETE
REQUIRED ———\

|, SLAB (Typ. TOP & BOTTOM). |

OO0 | ==

|—2"—
Min.

Qa/5 OR R/ Q/5 OR R/5

? |
po-0—| | || 2@

(Typ. TOP & BOTTOM)
o

N
H ™

(2) ancHors FORQDOR @) ~—5-000" Min. Typ:
TYPICAL TOP oY
AL TOP AND BOTTOM (1) ANCHOR FOR

TYPICAL TOP AND
FLOOR/CEILING MOUNTING :
SECTION W-W (1), W/O HEADER
SECTION W-W (2) W/ HEADER
SCALE : 1/8" = 1"
0,
1/2" 2

\.‘5 "x3"x3/8"x 0'-3"

(6061-T6 ALLOY)
®O=@———"T] |

Alum. ANGLE
.m./«% ——

{BEYOND) El LEVATIONA(\
o = 1"

SCALE : 1/8" =

(6) 1/4"8 x 3/4" TEK SCREW FOR
SINGLE SPAN & (12) 1/4"0 x 3/4"
TEK SCREW FOR MULTIPLE SPAN.

3"x3"x3/8"x0'~3" (6061-T6 ALLOY) Alum. ANGLE AT
A SINGLE ;c MULTIPL% SPAN FOR (;R (OMULLIONS &
3'x3"x3/8"x0'~6" (6061~T6 ALLOY) Alum. ANGLE AT
EXISTING GLASS % SINGLE & MULTIPLE SPAN FOR () MULLION, W/ (1) 2
1/2" THRU BOLT AT SINGLE SPAN & (2) 1/2"% THRU
I /\l BOLTS AT MULTIPLE SPAN. USE 7/8°¢ WASHER W/
THRU BOLTS. FIT 1/4"1 1/2"x3" ALUMINUM PLATE
SHIM AT RECESSED’AREA OF SIDE RAIL IN BETWEEN
| | MULLION AND ANGLE.

| — (2) 1/2"¢ THRU BOLTS

OR@(ONLY FOR W-Ww(2))

<

3"x3"x3/8"x0'~3" (6061-T6 ALLOY)
Alum. ANGLE W/ (4) 1/4"8x3/4" TEK
SCREWS TO HEADER & (1) 1/2"¢ KWIK
BOLT 3 W/ 3 1/2" MIN. EMBEDMENT TO
WALL. FIT 1/4"x1 1/2"x3" ALUMINUM
PLATE SHIM AT RECESSED AREA OF SIDE
RAIL IN BETWEEN WALL AND ANGLE.

@@

(BEYOND)

ALTERNATIVE: 1

WALL MOUNTING : SECTION W-W (3)

NOTE :

SCALE : 1/8" = 1"

THIS INSTALLATION IS ONLY VALID FOR STORM BARS WITH

Max. SPAN = 8

SPAN & 80 psf

BARS WITH MAX.

—0", HEADERS WITH 12'-0" Max. SINGLE
MAXIMUM DESIGN LOAD OR FOR STORM
SPAN=6'—0"; HEADERS WITH 15'-0"

MAX. SINGLE SPAN & 8D p.s.f. MAXIMUM DESIGN LOAD.

POURED CONCRETE
REQUIRED

2"xMULLION'S DEPTHx1/8" Cont. ALUMINUM
TUBE W/ 1/4"¢ TAPCONS TO WALL @ 12" O.C.
(TYP. TOP & BOTTOM)

POURED CONCRETE 7
REQUIRED / 2"x2"x1/4"x0'~6"

IF=======7) EA. SIDE W/ (2) 1/2"9 KWI
i BOLTS 3 W/ 2 1/2" Min.
EMBEDMENT TO WALL

TEK

(2) 3/8"8 THRU BOLTS TO MULLION.

PQURED CONCRETE o

REQUIRED
N8

2 1/2"

1~

(2) 2"x4"x1/4"x0'-8" Alum. ANGLE W/ .
(4) 1/4" THRU BOLTS TO HEADER & ™
(3) 3/8"2 KWIK BOLTS 3 W/ 2 1/2"Min. '
EMBEDMENT TO WALL.

USE 2"x7"x1/4"x0'~9" Alum, ANGLES FOR
CASES W/ 3" BUILD-OUT TUBE. EXISTING GLASS ——1

@@
ALTERNATIVE: 2 (BEYOND)
WALL MOUNTING : SECTION W-W(3)

SCALE : 1/8" = 1"

NOTE: VALID FOR ALL SPANS AND LOAD COMBINATIONS

OO0

s

ALUM ANGLE

1.1/2"%1 1/2"%1/8"x CONT.

(6061~T6 ALLOY) Alum. ANGLE 1"%2"1/8" ALUMINUM PLATE

W/ 1/4"8 x 3/4"

SCREW @ 12" 0.C.
O,
NO HEADER & STORM BAR ALLOWED.

UST SPLIT ROLL UP W/ MULLIONS &
TRACKS W/ FACE MOUNT.

W/ 1/4"¢x3/4" TEK SCREWS
® 12" 0.C. TO TUBE.

7 |
o 1%
SEE NOTE 1 § ! 3/41
OTTOM . ]
O ey
@DR T |
. . e (EXTENDED PASSED OPENING) - \ : o oAt pn
/2 A2 h 9.000" > / 2%2"x1/4"x0'=6" (6061-T6 ALLOY) Alum.
500"t 3,500 ] ANGLE EA. SIDE W/ (2) 1/2"8 KWK BOLTS 3
TO WALL & (2) 3/8"¢ THRU BOLTS TO
L MULLION. (SEE NOTE 1)
i 6 T
@OR@/ ! = 2 1— === === = [ WALL MOUNTING : MULLION CONNECTION
- O o o
o: L A\ : AT TOP & BOTTOM : SECTION W-W (1) Arproved s eorfylng with tha
I sa/a 03" @) 2"x4"x1/4"xo'-9'l | on SCALE : 1/8" = 1 E?itm mj’"ug"/ 05~
(6061-T6 ALLOY) Alum. ANGLE (BEYOND)
| Alum, ANGLE : M —p (5 D
CHE W 7 ¢
NOTE 1: G i
°Rq; EXISTING WALL MAY BE POURED CONCRETE OR GROUT FILLED CONCRETE BLOCK W/.~
(BEYOND) 2 1/2" Min. ANCHOR EMBEDMENT FOR ALL MULLION SPAN AND LOAD COMBINATION.”
ELEVATION /X1 ELEVATION /X2
SCALE : 1/8" = 1" SCALE : 1/8" = 1" F.B.C. (High Velocity Hurricane Zone)
© 2007 TILTECO INC. HIGH IMPACT 55mm SLAT DRAWN BY:
ROLL-UP SHUTTER F.P.
TYPICAL HEADER CONNECTION AT ENDS: |||_ I ECO GENERAL IMPACT GLASS AND WINDOWS, CORP.| 07/10/07
INC. (C.QLPA. § 1) DATE
SECTIONS W-W TILLIT TESTING & ENGINEERING COMPANY 7840 NW. 64 STREET
6355 N.w. Js.lh. St, Ste. 305 —~ VlRGl!{IA GARDENS, FI. 33166 MIAMI, FL. 33166 07_1 79
\;—,b\ Phone ' (305) 6711830 . Fo : (365) 8711531 PH:(305)558-8103, FAX:(305)558-6665
@"'&3 :_._.«.WW . \ ¢ mmEé_éo%CG‘;wo ol.com REV. No DESCRIPTION DATE REV. No DESCRIPTION DATE DRAWING No
JUL 1T a0y M T ! : o o




1/4" ¢ TAPCONS . v

" _— - 2" x 4" WOOD STUDS 1/4"8 TAPCONS W/ 1 1/2" Min. THREADED
@ Ea. STUD W/ 1 1/2" Min. 1/4"¢ TAPCONS W/ 1 1/2" Min. THREADED REQUIRED ® CORNER PéNETRATION To E/x,sﬂN/G WOOD STUD.
THREADED PENETRATION. PENETRATION TO EXISTING WOOD STUD. - (TYPICAL) (SEE SCHEDULE ON THIS SHEET)
R e (SEE SCHEDULE ON THIS SHEET) -~ 2/
4 Lo XZ X
S Lk Alum. Plate (6063-T6 ALLOY
S ) |4 A N
. I / : /
= s - I
e \ : ] 4
r 7 \ : N
. ( N | \(@ | :
Jhf. - / » ;
. .000 .t | }2.000 L
A / T Min. [FT] Min, T
: ~_ 7 B :
¢( \ i K ,."' /
WOOD HEADER/ Riy =
REQUIRED K. “ s> ae———— ] . '.; S —— — e /
ce AR .g i r M St/

o . Zz" x 4" STUDS
EXISTING GLASS —— 4r { T ]
A T

250" T 250" 2°x4” woop stups |/
Max: “Max. REQUIRED @ CORNER™\|
OR OR (TYPICAL)
1/4"6 TAPCONS W/ 1 1/2" Min. THREADED LA / /
VARIES, SEE TABLE (;ROAT‘—/ PENETRATION TO EXISTING WOOD STUD. PLAN A (SECTION) LLL
in.
SEPARATION /GLASS (SEE SCHEDULE ON THIS SHEET) MMQ_[M — —
SCALE : 3/8" = 1 1/4"0 TAPCONS W/ 1 1/2" Min. THREADED_ | _— |
) i PENETRATION TO EXISTING WOOD STUD.
2"x4” WOOD STUDS v (SEE SCHEDULE ON THIS SHEET)
REQUIRED @ CORNER :
(TYPICAL) ; ﬁ/ —2.080" Mih:
2"x4” CONT. . -1 |
SILL PLATE ~ 8
REQUIRED PR ; E '
q ~ 1 .1/2"1 1/2"x1/8" Cont.

=
“'——EQ_“I‘—EQ_‘ 3"X1"X1/8", 3")(2"X1/8",

3"x3"x1/8" OR 3"x4"x1/8"
CONT. BUILD-OUT TUBE.

L \ .
[\ Alum. ANGLE (6063—T6 ALLOY) ﬁ-\ i J@/Aé”oT'éK o
: T --‘ i
w | = (8)

1/4"  TAPCONS
1 @ 12" 0.C W/ 1 1/2" Min.
WOO0D STUD ——| THREADED PENETRATION

@ 24" 0.C. MAX 3 © MIDWIDTH OF PLATE —
REQUIRED g k — = > —

- ) a0 | 250 ‘___ 5= :EQ“{; @
b PLAN B (SECTION) M OR '°R‘~~ -

2.000
Mi
¥
4
12 3
j\—s" MAX —]
]

1 /4 ? TEK SCREW
© 6"

.250” f29
WALL MOUNTING INSTALLATION INSIDE MOUNT . Max.™
SINGLE SPAN GONDITION TR RE INSTALLATION INTO WOOD FRAME BUILDINGS: PLAN C (SECTION)
N.T. S BUILD-OUT
NOTES: SCALE : 3/8" = 1"
1. INSTALLATIONS ARE ONLY VALID FOR BUILDINGS WITH DESIGN LOADS SHOWN ON | o edsseom 2ptying with the

[\"p!'u"'“! 23 OILG

SCHEDULE ON THIS SHEET.

< <4 ; : 2. FOR NEW FRAME CONSTRUCTION: WOOD MEMBER TO BE SOUTHERN PINE No. 2
COR ESPONDING MAXIMUM ANCHOR SPA ING(in) FOR SIDE RAILS CIID @ W/ SPECIFIC DENSITY OF 0.55 OR EQUAL.

FSE 3 D
o = &%
Drate Prcduet
3. MINIMUM THREADED PENETRATION OF TAPCONS INTO WOOD MEMBER TO BE 1 1/2". M'WMM
CONR ON T0 ¢ 2 S0 LOY 4. INSTALLATIONS OF STORM BARS OR MULLIONS ARE NOT PART OF THIS APPROVAL. By
(USE MAXIMUM VALUES BETWEEN POSITIVE AND NEGATIVE LOAD)
SAT & ‘SLAT(55mm) F.B.C. (High Velocity Hurricane Zone)
SIDE RAIL
© 2007 TILTECO INC. HIGH IMPACT 55mm SLAT DRAWN BY:
wuNPE | SIDE RAIL . SIDE RAIL (B2 ROLL-UP SHUTTER .
LOAD - I I \ GENERAL IMPACT GLASS AND WINDOWS, CORP. 07/10/07
p.s.f.) WALL MOUNT | BSIEE BounT T [ WALL MOUNT oUNT BN T / 'L E co INC. (C.QLPA # 1) RP DATE
TILLIT TESTING & ENGINEERING COMPANY 7840 NW. 64 STREET 1
80 OR LESS 8" 6" 8" 8" 8" 8" 6355 NW. 36th, St, Ste. 305 ~ VIRGNA GARDENS, Fl. 33166 MIAMI, FL. 07—179
C—:E'; — Phone : (305) 8711330 , Fox : (303) 871-1531 PH:(305)558—8103, FAX:(305)556—6665
- - ™ € mqgéjg(t)%%c.)’?; al.com REV. No DESCRIFTION DATE_| RV, o DESCRIFTION [ DRAWING No
JUL 10 g TR A T U e € : : ezt o or 14




SLAT PERFORMANCE CHART
MAXIMUM DESIGN PRESSURE RATING (p. s. f.)
& CORRESPONDING MAXIMUM SLAT SPAN "L"

(USE MAXIMUM VALUES BETWEEN POSITIVE AND NEGATIVE LOADS)

SLAT TYPE 2 SLAT (55mm)
N[ o[
Max. \ SLAT SPAN TO GLASS
DLESA%N SINGLE MULTIPLE %ETL”EL‘EC
(ps.f) UNIT * UNIT = UNIT
40.0 OR LESS 5'_8" 57" 31/2°
45.0 5'—6" 5-5" 3 1/2°
50.0 5'~5" 5'—4" 31/2°
55.0 5'—2" 5'—2" 31/2°
60.0 4'-11" 4'—11" 31/2°
65.0 4'—g” 4'—g” 3 1/2"
70.0 4'-7" 47" 31/2°
75.0 4'-5" 4'-5" 31/2°
80.0 4-3" 4-3" 31/2°
85.0 4'—1" 4'—1" 31/2"
90.0 4'-0" 4'-0” 31/2°
95.0 3-11" 3-11" 31/2"
100.0 310" 3'—10" 31/2"
105.0 3'—-9” 3-9" 31/2°
110.0 37" 3-7" 31/2"
115.0 3-7" 37" 31/2°
120.0 3'—6" 3-6" 31/2°
125.0 3-5" 3'-5" 31/2"
130.0 3—4" 3—4" 31/2"
135.0 3-3" 3-3" 31/2°
140.0 33" 33" 3 1/2"
145.0 3'—2" 3-2" 31/2°
150.0 3-1" 3—1" 3 1/2”
155.0 3-1" 3-1" 3"
160.0 3'-0" 3-0" 3"
165.0 3'-0" 3'-0" 3"
170.0 211" 2'—11” 3"
175.0 2'-10" 2’'-10" 3"
180.0 2'-10" 2'-10" 3"

F——
E = - - =]
F—t—
l"_“—'-_“l E =] ] :'.I
E = f—t—
[= 5 —
SINGLE SPAN MULTIPLE SPAN

SPAN LAYOUT

*  SPANS VALID FOR EVERY INSTALLATION LOCATED AT ANY ELEVATION OF
BUILDING MEASURED AT BOTTOM OF SHUTTER.
MINIMUM SEPARATION TO GLASS FOR SINGLE AND MULTIPLE UNITS SHALL
BE MEASURED FROM BACK OF SLAT TO GLASS.

Approved as mmpﬁymg with ¢

Florida ﬁ'd d
bae J&. /83 3 09“ "t
NOAY __9.9-/1,4‘0

Miemi uadu Froduct Control
Divisig
By £/

F.B.C. (High Velocity Hurricane Zone)

© 2007 TILTECO INC. HIGH IMPACT 55mm SLAT DRAWN BY:

ROLL-UP SHUTTER F.P.
'||_'E €C O nc GENERAL IMPACT GLASS AND WINDOWS, CORP.| 07/10/07

: (CQ.LPA § 1 DATE

TILLIT TESTING & ENGINEERING COMPANY 7840 N.W. 64 STREET
8355 N.W. 36th. St., Ste. 305 — VIRGINIA GARDENS, Fl. 33166 MIAMI, FL. 33166 07_1 79
Phone : (305) 871=1530 , Fax : (305) 671-1531 PH:(305)558~8103, FAX:(305)558—6665
E m,_: ) e—mail: tilteco@aol.com DRAWING No
i S "““\:’ EB-0006719 REY. No DESCRIPTION DATE REV, No DESCRIPTION DATE
v . WALTER A, TILLIT Jr., P. E. 1 3
JUL 11 onny FLORIDA Lic, # 44167 2 2 SHEET 10 OF 14




STORM BAR LOADING CHART
MAXIMUM DESIGN PRESSURE RATING (p. s. f.) AND CORRESPONDING MAXIMUM SPAN "L" FOR
A GIVEN TYPE OF STORM BAR AND STORM BAR SPACING.
SPACING FOR INSTALLATION WITH 1 OR MORE STORM BARS AT FRONT AND 1 OR MORE STORM BARS AT REAR
(USE MAXIMUM VALUES BETWEEN POSITIVE AND NEGATIVE LOADS)

TYPE 1 STORM BAR TYPE 2 STORM BAR
MAXIMUM 2" x 4% % 125" by e
DESIGN
LOAD *  STORM BAR SPACING *  STORM BAR SPACING
.st) <3-0"| 3104|4105 |5T106 |<3-0"|[FT04|4T05 |5 106
ORLESS| o'-g” | &-6" | 7-7" | &-11" | 1r=2" | 105" | g'-10" | o-2"
45 9'-3" 8'-0" 7-2" 6'-6" 10'-10" | 10'=1" 9'-6" g8'-8"
50 8'-9” 7-7" 6'~10" 6'~2" 10°-7" 9'-10° 9'-0" 8'-3"
55 g-4" | 7'-3" 6'-6" s-11" | 10-4" | o'-7" g'~7" 710"
60 8'-0" 6'-11" | 6'-2" 5'-8" 10'-1" | 9'-2" 8'-3" 7'-6"
65 7-8" 6'-8" 6'-0" 5-5" | o-11" | g-10" | 7-11" | 7'-2"
70 7'-5" 6'-5" 5'-9" 5-3" | o'-9" 8'~6" 7'-7" 611"
75 7'-2" 6'-2" 57" 5-1" 9'—6" 8-3" 7'-4" 6'-8"
80 6'-11" | &-0" 5'-4" 4-11" | 9'-2" 7-11" | 7-1" 6'~6"
85 6'-9” 5-10" | 5'-3" 4-9" | g-11" | 7'-9" 6~11" | 6'-4"
90 6'-6" 5'-8" 5-1" 4-7" | g-g" 7'-6" 6'-8" 6-1"
95 6'-4" 5'—6" 4'-11" 4'—-6" 8'-5" 7'-4" 6'—6" 5-11"
100 6'~2" 5'—4" 4-10" 4'-5 8'-3" 7'-1" 6'—4" 5'-10"
105 6'—1" 5'-3" 4-8" 4-3 8'-0" 6'-11" 6'~2" 5'-g"
110 5-11" 51" 4'-7" 4'-2" 710" 6'-9" 61" 5'-6"
115 5'-9" 5-0" | 4-6 -1 | 7-g 6'-8" 5-11" | 5'-5"
120 5'-8" £-11" | 45" 4-0" | 7-¢ 6'—6" 510" | 5-4"
125 5-7" 4-10" | 4'-4 3-11" | 7-4" 6'-4" 5'-8" 5'-2"
130 5'-5" 49" | #4-3 3-10" | 7-2" 63" 5_7" 51"
135 5'—4" -7 | 4-2 39" | 7-1" 6'—1" 56" 5'—o*
140 5'-3" 4'-6" 4'-1" 3-8 6'~11" 6'-0" 5'—4" 4'-11"
145 5'-2" 4-6" 4'-0" 3-8" 6'-10" 5'-11" 5'-3" 4'-10"
150 51 ¢-5" | F-11" | 37" | ¢-g" 5-10" | 5-~2" 4'-g"
155 5’0" #-4" | 3-10" | 3-6" | &-7" 5'—g" 51" 4-8"
160 g-11" | #-3 | 3-10" | 3-6" | 6-6" 5-7" 5—0" -7
165 4-10" | #4-2" | 3-9" 3-5" | &-5" 5'_g" 11" | 4—6
170 4'—g" 4-1" | 3-g" 3-4" | 64" 5'_5" 411" | 4-5"
175 4'-g" #-1" | 3-8 3-4" | o-2" 54" 4£-10 -5
180 4-7 £-0" | 3-7 -3 | 61" 54 9 T

* STORM BAR SPACING SHALL BE SUCH THAT MAXIMUM SLAT SPAN SHALL NOT BE EXCEEDED.
F.B.C. (High Velocity Hurricane Zone)

© 2007 TILTECO INC. HIGH IMPACT 55mm SLAT DRAWN BY:
ROLL-UP SHUTTER F.P.
l"_IE C O nc GENERAL IMPACT SLASS AND WINDOWS, CORP.| 07/10/07
y C.QLPA # 1) DATE
TILLIT TESTING & ENGINEERING COMPANY 7840 N.W. 64 STREET
o= 6355 N.W. 36th. St., Ste. 305 — VIRGINIA GARDENS, Fl. 33166 MIAMI, FL. 33166 07—-179
- . IR — Phone : (305) 871~1530 , Fax : (305) 871-1531 PH:(305)558-8103, FAX:(305)558~—6665
- M . ~————— O Tt~ e-mail: tilteco@aol.com DRAWING No
. r,,..-~»‘—"‘ EB—0006719 REY. No DESCRIPTION DATE REV. No DESCRIPTION DATE
B 1 1 opny WALTER A. TILUT Jr., P. E. 1 3
JUL 41 oy FLORIDA Lic. § 44167 2 3 SHEET 11 OF 14




STORM BAR LOADING CHART
MAXIMUM DESIGN PRESSURE RATING (p.s.f.) AND CORRESPONDING MAXIMUM SPAN "L" FOR
A GIVEN TYPE OF STORM BAR AND STORM BAR SPACING.
SPACING FOR INSTALLATION WITH 2 OR MORE STORM BARS AT FRONT AND 2 OR MORE STORM BARS AT REAR
(USE MAXIMUM VALUES BETWEEN POSITIVE AND NEGATIVE LOADS)

TYPE 2 STORM BAR

MISAE(;?&M T;fExifimﬂggﬁ 2" x 4" x 250"
LOAD *  STORM BAR SPACING *  STORM BAR SPACING
(o) 3-0" 137044705 [55706 |<3-0"|37T04 4705 |5 706

40 OR LESS] 4p0g* | o'—1" | g-1” 7-5"_ | 1'-7" | 10-9" | 10-2" | 99"
45 9'—g" 8'-6" 7'-8" 7'-0" 11'-3" | 10'-5" 9'-11" | 9'-3"
50 9'—4" 8'-1" 7'-3" 6'~7" 10'=11" | 10'-2" 9'-7" 8'-9”
55 g-11"_| 7'-9" 6'-11" | &'-4" 10'-8" | 9'-11" 9'-2" 8'~4"
60 8'-6" 7'-5" 6'-7" 6'-0" 10'-5" 9'-g" 8'-9" §'-0"
65 8'-2" 7'-1" 6'—4" 5'-10" } 10'-3 9'-5" 8'-5" 7'-8"
70 7-11" | 6'-10" | &'~1" 5'-7" 10'-1 g'-1" 8'-1" 7'-5"
75 7'-8" 6'-7" 5'-11" 5'~5" 9'-11" 8'-9" 7-10" | 7-2"
80 7'-5" 6'-5" 5'-9" 5'=3" 9'~9" 8'-6" 7'=7" 6'~11"
85 7'-2" 6'-3" 5'=7" 5'—1" 9'-6" 8'-3" 74" 6'~-9"
%0 7'-0" 6'-0" 5'-5" 4'-11" | 9'-3" 8'-0" 7'-2" 6'-6"
95 6'-9” 5-11" | 5'-3" 4#-10" | 9’-0" 7'-9" 6-11" | 6'-4"
100 6'~7" 5'-g" 5-1" 4'-8" 8'-9" 7'-7" 6'-g" 6-2"
105 6'-5" 5-7" 5-0" #-7 | 8'-6" 7'-5" 6'~7" 6'~0"
110 6'-4" 5'-6" 4-11" 4'-8" 8'—4" 7'-3" 6'—6" 5'-11"
115 6'-2" 5'-4" 49" 4-4" 8'-2" 7'-1" 6'—4" 5'-9”
120 6'-0" 5'-3" 4'-8" 4-3 8'-0" 6'-11" 6'-2" 5'-8"
125 5'-11" 5'-1" 4-7 4'-2" 7'-10" 6'~9" 6'-1" 5'~6"
130 5-10" | s-0" | 4-¢ g-1" | 7-8 6'—8" 5-11" | 5-5"
135 5'-g" 4-11" | 4-5" 4'-0" 7'-6" 6'—6" 5'-10" | 5-4"
140 5'~7" 4-10" | 4'-4" 3-11" | 7'-5" 6'-5" 5'-g" 5'-3"
145 5'-6" 4-9" 4-3 I-11" | 7-3 6'—4" 5'-8" 5'-2"
150 5'-5" 4¢-g" 4'-2" I-10" | 7-2" 6'-2" 5'-6" 5'—t"
155 5'—4” 4-7" 4-1" 3-9” 7'-0" 6'~1" 5'-5" 5'-0"
160 5'-3" 4-6" | 4-1" 3'-8" 6'-11" 6'-0" 5'~4" 4-11"
165 5'-2" 4-6" 40" 3-g" 6'-10" 5'—11" 5'-3" 4'-10"
170 51" e-5" | 311" | 33— | -9 5-10" | 5-2" 4-9" ﬁif:ggadf;cff“pi"'“gw“bm

' » A , " y am " _on s qn s _an "_gn Diate
:;Z 5'-0 e-v 3‘~1o" 36 o7 5' o 51" 4'—8" N %:‘Qg;‘ -of
4-11" | 43 3-10 36" 6'—6 5'-8 5'—1 47 Miani S 100 Controg

g;vm%\

* STORM BAR SPACING SHALL BE SUCH THAT MAXIMUM SLAT SPAN SHALL NOT BE EXCEEDED.
F.B.C. (High Velocity Hurricane Zone)

© 2007 TILTECO INC. HIGH IMPACT 55mm SLAT DRAWN BY:

ROLL-UP SHUTTER F.P.
I||_|E C O nc GENERAL IMPACT GLASS AND WINDOWS, CORP.| 07/10/07

: (CQLPA. # 1 DATE

TILLIT TESTING & ENGINEERING COMPANY 7840 N.W. 64 STREET
<= 6355 N.W. 36th. St., Ste. 308 — VIRGINIA GARDENS, Fl. 33166 MIAMI, FL. 33166 07-179
@...5%:.5’)‘\\\ Phone (3:52 nzzi-‘stsicl’té :;a;@ :qgrz)ozi-ww PH:(305)558—8103, FAX:(305)558~6665
Eé~0006719 ) REY. No DESCRIFTION DATE REY. No DESCRIPTION DATE DRAWING No
RTI o WALTER A, TILLIT dr., P. E. 1 3
JUL 1T o i/ FLORIDA Lic. #i 44167 5 2 SHEET 12 OF 14




HEADER LOADING CHART
MAXIMUM DESIGN PRESSURE RATING (p.s.f.) AND CORRESPONDING
MAXIMUM SPAN "L" FOR A GIVEN TYPE OF HEADER.

(USE MAXIMUM VALUES BETWEEN POSITIVE AND NEGATIVE LOADS)

TYPE 1 HEADER TYPE 2 HEADER
MAXIMUM 2" x 4" x.250" 2" x 6" x.250"
DESIGN
LOAD STORM BAR HEIGHT STORM BAR HEIGHT
(p-sf)
£ 6'-0" 6 10 &' 8 10 10" | 10’ 70 12’ < 6'-0" 6 10 8 8 10 10' | 10' TO 12’
40.0 OR LESS | 14'-10" | 12’-10" 11'-6" 10'-6" 19'-4" 17'~-4" 15'-6" 14'-2"
45.0 14'-0" 12'-2" 10'~10" 9'-11" 18'=10" | 16'-4" 14'-8" 13'-4"
50.0 13'-4" 11'~6" 10'-4" 9'-5" 17'-11" 15'-¢" 13'-11" 12'-8"
55.0 12'-8" 11"~0" 9'-10" g'-0" 171" 14'-10" 13'-3" 12'—1"
60.0 12'_2" 10'_6" 9!_5» 8'—7" 16'—4" 141_2,1 12-_8.- 11'=7"
65.0 11'~8" 10°~1" 9'-0" 8'-3" 15'-9" 13'-7" 12'--2" 11'-1"
70.0 11'-3" 9'-9" 8'-8" 7-11" 15'-2" 13'-2" 11°-9" 10'-9"
75.0 10°-10" | ¢'-5" 8'-5" 7'-8" 14'-8" 12'-8" 114" 10'-4"
80.0 10‘_6" g'__1" 8“'2" 71_50 14:_2n 121_3n 1 1._0n 10:_011
85.0 10'-2" 8'-10" 7'=11" 7'-3" 13'-9" 11°=11" 10'-8" 9'~9"
90.0 9’_1 1 L4 8'_7" 7)_8-, 79_011 131_4'1 ‘ 1 |_7n 10!_4» 91_5-1
95.0 9'~8" 8'—4" 7'—-6" 6'—10" 13'~0" 11'-3" 10'-1" 9'-2"
100.0 9’-5" 8'-2" 7'-3" 6'-8" 12'-8" 11'-0" 9'~10" 9'-0"
105.0 9”"2” 71_1 1n 7,_1" 6.‘"6” 12._5. 10»_9u 9'_711 8'—9”
110.0 9'-0" 7'-9" 611" 6'—4" 12’~1" 10'-6" 9'—4" 8'-7"
115.0 8'-9" 7'-7" 6'-9" 62" 11'-10" 10'-3" 9'=2" 8'—4"
120.0 8'-7" 7'-5" 6'-8" 6'—=1" 11'-7" 10'-0" 9'-0" 8'-2"
125.0 8'-5" 7'_3" 6:_6n 5v_1 1 " 1 10_4" 9’_10" 8'—9" ao_on
130.0 8'-3" 72" 6'-5" 5'-10" 11'=1" 9’-8" 8-7" 7'~10"
135.0 8'_1" 7’_0" 6'—3” 5"—9" 101_1 1 » 9'—5" 8,—5" 7:_911
140.0 7'-11" 6'—11" 6'-2" 5'—7" 10'-9" 9'-3" 8'—4" 7’-7"
145.0 7'-10" 6'-9” 6'-1" 5'-6" 10'-6" 9'—1 g'-2’ 7'~5 ¢ jing with the
150.0 7’_8' 6"‘8" 5]_1 1 " 5J_5n 100_4:- gf_on 8‘—0” 7._4n ¥ ‘Zj‘o ?_
155.0 77" 6'—6" 5'-10" 5'—4" 10'~2" 8'—10" 711" 72" DF = OHb-0f"
Froduct Controt
160.0 7'-5" 6'—5" 5'-g" 53" 10'-0" g8'-8" 7'-9" 7'-1" z;:wmm
B
165.0 7' —4" 6'—4" 5'-8" 5'-2" 9'-10" 8'-7" 7'-8" 7'-0" Y
170.0 7'-3" 6'-3" 57" 5'—1" 9'~9" 8'-5" 7'~6" 6'—11"
175.0 7-1" 6'—2" 5'—6" 5'-0" 9'-7" 8'-4" 7'-5" 6'-9" F.B.C. (High Velocity Hurricane Zone)
180.0 7 ~0 6'~1" 5'—5" 4'—11" 9’5" 8'-2 7 ~4 6'~8 © 2007 TILTECO INC. HIGH [MPACT 55mm SLAT DRAWN BY:
ROLL-UP SHUTTER F.P.
/ |||_ IE C O e GENERAL IMPACT GLASS AND WINDOWS, CORP.| 07/10/07
. (C.Q.LPA. # 1) DATE
TILLIT TESTING & ENGINEERING COMPANY 7840 N.W. 64 STREET
6355 M.W. 36th. St., Ste. 305 — VIRGINIA GARDENS, Fl. 33166 MIAMI, FL. 33166 07_ 1 79
@\m Phone : (305) 871-1530 , Fax : (305) B71-1531 PH:(305)558-8103, FAX:(305)558—6665
T e—muail: tilteco®aol.com DRAWING No
o B - EB—0006719 REY. No DESCRIPTION DATE REV. No DESCRIPTION DATE
WALTER A, TILLIT Jr., P. E. 1 3
FLORIDA Lic. # 44167 ; : SHEET 13 OF 14




MULLION LOADING CHART
MAXIMUM DESIGN PRESSURE RATING (p.s.f.) AND CORRESPONDING MAXIMUM

SPAN "L"(Ft) FOR A GIVEN TYPE OF MULLION AND MULLION SPACING (Ft.).
(USE MAXIMUM VALUES BETWEEN POSITIVE AND NEGATIVE LOADS)

TYPE 1 MULLION TYPE 2 MULLION TYPE 3 MULLION
MAXIMUM 4" x 4" x 250" 4" x 8" x .250" 4" x 8" x .250"
DESIGN
(lﬁosAfD) MULLION SPACING MULLUION SPACING MULLION SPACING
S4-0|4T05|5T06 (6 T08) ¢ 4-0"]|4T05|5T06 |6 T08 |8 101000 10 127] < #~0"|4 T0 5|5 To 6|6 To 8'|s8' 10 1010’ TO 12°
40.0 OR LESS | 11°-9" 1 10°~11"| 10'~3" | 10'~9” | 16'-4" [ 15°=2" [ 14'~3" | 14'~10" 13'-10"| 13'-0" | 20'~8" | 19'~2" | 18'=1" | 18'=10"| 176" | 16'=5"
45.0 114" ] 10'=6" | 9'=11" | 10°~4" | 15'~8" [14'=7" | 138" | 14'=2" | 13'—3" 12’'-6" | 19°-10"| 18'=5" | 17°~4" | 18'=1" | 16'=10"] 15'-10"
50.0 10-11") 10-2" | o'-7" | 10'=0" | 15'=2" [14'=1" | 13-3" | 137_10" 12'-10"} 12'-1" | 19°~2" {1 17'=10"] 16'=9" | 17'=6" | 16'=3" | 15'=3"
55.0 10-7" | 9'-10" | 9'-3" | ¢'~g" | 14'-8" [13'=7" | 12°=10"| 13'—4" 12°-5" | 11’-8" | 18'-7" | 17'=-3" | 16'=3" | 16'=11"} 15'~9" | 14'=9"
60.0 10-3" | 9'=7" | 9'=0" | ¢’~5" | 14'=3" [13'-3" | 12—5" | 13=0" | 12'—1" 11'-4" | 18'-1" | 16'=9" | 15°—9" | 16'=5" | 15'=3" | 14'=4"
65.0 10'-0" | 9'-4" | 8'-9" | 9'=2" | 13'-11"[12'=11"]| 122=2" | 12'_g" 11'=9" { 11'~1" | 17°=7" | 16'~4" | 15'—4" | 16'=0" | 14'~10"| 14'-0"
70.0 9-9" | 9'=1" | &-6" | &~11"| 13'-7" [12'-7" | 11'=10"] 12'=4" | 11'—5" 10'~9" | 17'-2" [15'-11"| 15°~0" | 15'=7" | 14'=¢" | 13'~8"
75.0 9'-7" | 810" ] 84" | g'-8" | 13'-3" [12=3" [ 11=7" | 12—1" 11'-2" | 10'-6" | 16'~9" | 15'=7" | 14'=8" | 15'=3" | 14'=2" | 13'=4"
80.0 9'-4" | 8'-8" | 8-2" [ 8'-6" | 12-11"[12°=0" | 11'=4" 11°'=10") 10°-11"] 10'~4" | 16'~5" | 15°~3" | 14'=4" | 14'~11"] 13'=10"| 13'=1"
85.0 9-2" | 8-6" | 8-0" | &'-4" | 12-8" [11'=9" | 1121 | 11°=7 | 10'—0" 101" ] 16'=1" | 14'=11" 14'~0" | 14'-8" | 13'=7" | 12'~9"
90.0 9-0" | 84" | 710" &-2" [ 12=5" | 11"=7" | 10=11"] 11'—4" 10°-6" | 9'=11" | 15'-9" [ 14'=8" | 13'-9" | 14'~4" | 13'=4" | 12'=7"
95.0 8'-10" | 8'-2" | 79" [ g'—1" | 122-3" [11'=4" | 100—g" | 11°—2" 10'-4" 1 9'=9" 1 15'-6" | 14'=4" [ 13'=6" | 14'=1" | 13'=1" | 12'—4"
100.0 8-8" | 8-1" | 7-7" | 7~11" | 12=0" [11'=2" | 10'=6" |10'=11" 10°-2" | 9'-7" 115'-3" | 14'=2" [ 134" | 13'=10"] 12'~11"]| 12'=1"
105.0 8—6" | 711" | 7-6" | 7-9" | 11'=10"|11'=0" | 10'—4" 10'-9" § 10'=0" | 9'=5" | 15'-0" | 13'—11"}13'-1" | 13'-8" | 128" | 11'=11"
110.0 8'-5" | 7-10"| 7'~4" | 7-8" | 11"=8" [ 10'~10"]| 10'=2" | 10'=7" | 9'~10" 9'-3" | 14'~9" | 138" |12'=11"{ 13'=5" | 12'=6" | 11'=8"
115.0 8-3" | 7-8" | 7-3" | 7-7" | 116" |10'-8" | 10'=0" | 10'=5" | 9’9" 9'-2" }14'~6" {13'-6" }12'-8" [13'-3" | 122=3" | 11'=5"
120.0 8-2" | 7-7" | 7-2" | 7~5" | 114" [10-6" | o'—11" | 10'—¢" | 9°=7" 9'-0" | 14'—4" | 13-4" |12'=6" | 13=1" | 12'=1" | 11"-2"
125.0 8-1" | 7-6" | 7-0" | 7~4" | 11"=2" | 10'=4" | g'—¢" | 10'—2" | 9'~5" 8'—11" }14'=2" [ 131" |12'-4" }12-11"] 11'=11"] 10'=11"
130.0 7-11" | 7’-5" | &'-11"| 7-3" | 11’~0" |10-3" | o'_g" 10'-0" | 9'-4" 8'-9" | 13—11"[12'~-11"[12°=2" {12'-9" | 11'=9" | 10'-9"
135.0 7-10" | 7-3" | &'-10"] 7-2" ] 10-11"] 10-1" | ¢'=6" | 9'—11" | 9'—2" 8'-7" |113-9" | 12'-9" |12’-0" |12=7" | 11'=7" | 10°=7"
140.0 7-9" | 7=2" | 8'-9" | 7=1" | 10'~9" [10'-0" | ¢'=5" | g'~10" | 9'—1" 8'-5" 113-7" |12’=8" [11"=11" | 12’=5" | 11'~4" | 10'—4"
145.0 7-8" | 7-1" | &'-8" [ 7-0" | 10=7" | 9'=10" | 9'~3" | 9'-g" | 9'-0" 8'-3" | 13-5" |12'-6" |11’'=8" | 12'=3" | 11'=2" | 10'=2" NOTES :  REFER TO ELEVATIONS ON SHEET 2
150.0 7'=-7" 7'-0" 6'-7" | 6'-11"{ 10'-6" 9'-9” 9'-2" | 9'-7" | 8-11" | 8'~1" J13-4" ] 12=4" |11’=6" }12°=1" | 10'=11"| 10'=0" 1—. FOR_MULLIONS INSTALLED W/O STORM BARS
155.0 7-6" | 7-0" | 6-7" | 6'~10"] 105" | 9'-8" | o'=1" [ g'—6* | &'-9" 8'-0" |13-2" [12'-3" |11'-4" |127-0" | 10'=9" | 9’-10" A) MULLION SPACING SHALL BE SUCH THAT MAXIMUM SLAT SPAN SHALL NOT BE EXCEEDED
160.0 7’5" 6'~11"} 6'~6" | 6'=9" 10°=-3" | 9'-7" | 9'-0" | 9'=4" | 8'=7" 7'-10" ] 13'=0" | 12'-1" [11'=2" {11'-10"]| 10'=7" | 9’8" 2-. FOR MULLIONS INSTALLED W/ STORM BARS & HEADERS
165.0 7-4" | 6'=10"] 6'-5" | 6'~8" | 10'=2" | 9'-5" |g'—11" | g'_3* | &'—6" 7'-9" [12'-11"} 12'-0" } 11'=0" [11’'=8" | 10'-5" | ¢'-6" A) MULLION SPACING SHALL BE SUCH THAT MAXIMUM HEADER SPAN SHALL NOT BE EXCEEDED
170.0 7'-3" 1 6-9" | 6'—4" | g'-8" | 10=1" | 9'=4" | g=¢” | g'_2* | g-s" 7'~7" }12'-9" | 11°-10"| 10'-10"| 11"~6" | 10'~4" | 9’5" B) STORM BAR SPACING SHALL BE SUCH THAT MAXIMUM SLAT SPAN SHALL NOT BE EXCEEDED
175.0 7-2" 1 &6-8" | 6-4" | 6-7" | 100" | 9-3" | g—8" | 9'=1 | &-3 7-6" | 12’-8" | 11'-8" | 10'=8" | 11'—=4" | 10'=2" | 9'-3"
180.0 7'-2" 6'-7" | 6'~3" | 6'=6" | 9'=11" | 92" | g'=¢" | o'—0" 8'~ 7-5" | 127-6" | 11'-6" [ 10°~6" | 11"=2" | 10'-0" | 9'-2"

F.B.C. (High Velocity Hurricane Zone)

© 2007 TILTECO INC. HIGH IMPACT 55mm SLAT DRAWN BY:
ROLL-UP SHUTTER F.P.
/ |||_ IEC O Inc \ GENERAL IMPACT GLASS AND WINDOWS, CORP.| 07/10/07
: (CaLra. # 1) DATE
TILLIT TESTING & ENGINEERING COMPANY 7840 N.W, 64 STREET
6335 N.W. 36th. St. Ste. 305 - VIRGINIA GARDENS, Fl, 33166 MIAMI, FL. 33166 07-179
55 patt Phone : (305) 871~1530 , Fax : (305) 871-1531 PH:(305)558-8103, FAX:(305)558—6665
Mc e e—mail: tilteco@aal.com DRAWING No
" - »~= T‘) EB—0006719 REV, No DESCRIPTION DATE REV. No DESCRIPTIOR DATE
Ny g - . WALTER A, TILLIT Jr., P, E. 1 3
JUL 11 o0y FLORIDA Lic. # 44167 7 7 SHEET 14 OF 14




